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Chel: MHESSTHHUS2A2IIS 2RI (WEESTHHU222012)

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
s 544,134 503,109 41,025
FAaze 544,134 260,371 283,763
HEESHHUa2LI2 2 (HESTHMHUS 2 544,134 260,371 283,763
13)
Mesd Btz 2l 544,134 260,371 283,763
201 L2l 322,242 218,497 103,745
01 At 22l 111,836 17,380 94,456
OMEBHEE 29 422 7Y
400,000& x12& 4,800
ONegs8s dE2d =58 Z4lH|
10,000& x20H 128 2,400
OMEEE deiat Ay
2,000 x4 H +25H 123 2,400
OMEEMEOIE YXQAT 2
1,900& x20H 604 2,280
OMBSHENAT UYE HSHZ 2Y
200,000& »2CH 400
OsZ0s BEH Ma7
100, 0003 *8IH A +12& 9,600
OZ0Ia m=H(RYg=s, tds S 118)
252,000 = 168H x90% 38,103
OMERHEE Hiad SHY|
600,000& »23| 1,200
OMEE MBS SHALAFY|
25,000& »4H 100
OJl=28dAs 3=
70,0003 x2H +23] 280
Ostdllstd 223  4,000& 168 601 12 48,384
OO SSEA MEE
903 ~60H * 168 x12& 1,089
Ogdilsta & AR E Sl
100,000 *8IH A& 800
02 2324l 120,626 76,617 44,009
OMEBELEZE JIHANE SX 2t
5,000,000 = 10CH 50,000
O&AX & XAHX AZHI
1,700 «2CH = 16Lx288 15,668
OMEELHEE ANEE K22l
10,000, 0003 * 1Al 10,000
OMEELHEE HIIR= 2,400,000& 123 28,800
OMEBHEE LAY 2 (L0)
140,000 128 1,680
OMEELEZE IHY AEZ 30,0008 12 360
OMEBHEE SUYE 242
10,0002 128 120




2M: 33
M HaABe
S MHESSTHUS22II2 22 (M2 EHHoHH222013) (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@i HRE2
OMEsdga AN € XHX EE2
300,000& =2LH 600
ONMBEHET NI 8INLRL2
75,000 «23| 150
OBZ0I3E 85X LURF
1,380 8 A~ «102| Ef x 120 13,248
03 Al HH| 89,780 124,500 N34,720
OEE0|ISHY A2 Y AN JH=
60,000& 168 23| 20,160
OtZ0I13d K3 E&2FH M
100,000& x10&H 23| 2,000
O#A0IEY YE A2E 7Y
50,000 x190H »23] 19,000
OFH&d sH0Isd S92
20,000 x 168X *23| 6,720
OFH S A& &F0Is& 0F=2 2HAMH|
5,000 *30Y x15 23| 4,500
O&td0|ste N0 28 Aol
80,000 x10H 63| 4,800
OstZ0|3d 25, 8 |KFH YL S4adl X
& 100,000& x8H 123 9,600
OR2Y sADIsIY Z2d(28set & os
AEEH) 1,000,000 23 *13| 23,000
206 M = H| 5,874 5,874 0
01 X2 H| 5,874 5,874 0
OMEsdga ex5H 2L
59,400& 53| x12& 3,564
OMEBHLEE # LS%E 7Y
38,500 53| x12& 2,310
301 LBt A= 25,448 19,500 5,948
02 &et=dsx=2 19,500 19,500 0
O&tHDISE X sX2 X O XA
250,000,000 *7.8% 19,500
10 HAFAHI B a2 2,648 0 2,648
OtHDISE 42X ¢yl 2423
264,800 x2 3 x5! 2,648
12 JIEtE2 A= 3,300 0 3,300
OetH0Igd 24t el 110,000 x10& »3 3,300
401 Al HI L £ 0HHI 50,000 15,000 35,000
01 Al& H| 50,000 15,000 35,000
OB 013 B3 & AAIMEASH|
50,000,000 * 14! 50,000
602 Ol x| 2 140,570 0 140,570
01 GlXI= 140,570 0 140,570
OAl=Z212 WXl=2 140,570,000 140,570




